Quiz Review
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Distributive.Property and Combining Like Terms
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5. THINK ABOUT IT. Look at the following two questions, You will notice they
are the same. Show two DIFFERENT ways you can simplify the two problems.
Below your answer, JUSTIFY your reasoning for each method you chose.
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For # 6 - 8, simplify each expression. Circle your final answer,
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9. THINK ABOUT IT. For the following question, find the perimeter of the
figure. Once you have found your answer, use the lines provided to JUSTIFY how
you know your answer is correct.
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For # 10 - 12, simplify each expression, Circle your' flna nswer
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13.  Find the area of the following rectangle. Circie your final answer.
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13.  THINK ABOUT IT. Steve was so bummed about the results of the Michigan
vs. Michigan State game that he missed school on Monday. While he was healing
emotionally, you learned how to simplify algebraic expressions. Kylie shared an
example problem with Steve, but she made an error. Looking at her work below,
state a claim about Kylie's error, use evidence to back up your claim, and support
“your answer with mathematical reasoning.
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